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ÍÛæ̃ Û¶ÛÛ :   ¸ÛóÊ¶Û¸ÛªÛ¾ÛÛ× þùÉÛÛÙÈýÛÛ …¶ÛäÍÛÛÁõ ¸ÛóÊ¶Û¸ÛªÛ¶ÛÛé ’õ¾ÛÛ×ïõ ÅÛ”ÛÈÛÛé. 
Instruction : Write the no. of the questions as per the question paper. 
 

1. ÈÛÍ©Ûà ÍÛ×’õ¾Û¨Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛÜÈÛÍ©ÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 14 
 Explain in detail Demographic Transition Theory. 

   …¬ÛÈÛÛ/OR 

 …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛ Ü¶ÛþëùÉÛïõÛé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 
 Briefly explain the indicators of Economic development. 

 

2. ÜÁõïõÛ¦øÛë¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûä× ¤øàïõÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé. 14 
 Critically evaluate Ricardian theory of economic development. 

    …¬ÛÈÛÛ/OR 

 ÉÛä¾¸Ûà¤øÁõ ¾Ûä›÷¼Û ÜµÛÁõÛ¨Û …¶Ûé ¶ÛÈÛ¸ÛóÈÛ©ÛÙ¶Û¶ÛÛé …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¾ÛÛ× ÉÛä× ºõÛÇÛé ™öé ? 
 What is the role of credit and innovations in economic development according to 

Schumpeter ? 

 

3. ÅÛéÜÈÛÍÛ¶Ûä× ËÛ¾Û¶ÛÛ …¾ÛýÛÛÙÜþù©Û ¸ÛæÁõÈÛ¥øÛ¶Ûä× ¾ÛÛé¦éøÅÛ ÍÛÜÈÛÍ©ÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 14 
 Explain Lewis model of unlimited supply of labour in detail. 

    …¬ÛÈÛÛ/OR 

 “…ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶Ûé ÈÛé•Û …Û¸Ûé ™öé.” ÍÛ¾Û›ÛÈÛÛé.   

 “Unbalanced growth strategy accelerates economics development.” Explain. 

 

4. …Ûíé²Ûé•ÛàïõÁõ¨Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. ½ÛÛÁõ©Û ›÷éÈÛÛ þéùÉÛ¾ÛÛ× ©Ûé¶ÛÛ ©ÛïõÛÙµÛÛÁõ …¶Ûé ©ÛÁõÛÐü ÉÛä× ™öé ? 14 

 Define Industrialization. What is the rationale and pattern of Industrialization in 
countries like India ? 

    …¬ÛÈÛÛ/OR 

 …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¾ÛÛ× ”Ûé©Ûà “ÛéªÛ¶ÛÛé ºõÛÇÛé ÍÛÜÈÛÍ©ÛÛÁõ ˜Û˜ÛÛë. 
 Discuss in detail the role of agriculture sector in economic development. 
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5. ©Û¾ÛÛÁõÛé ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà, ©Ûé¶ÛÛé ¾ÛÛªÛ ¶Û×¼ÛÁõ (a, b, c …¬ÛÈÛÛ d) ÅÛ”ÛÛé. 14  

 Choose the right answer and write only no. (a, b, c or d) 

 (1) …µÛÙ ÜÈÛïõÍÛà©Û þéùÉÛ ¸ÛÛÍÛé ÉÛä× ÐüÛéýÛ ™öé ? 

   (a) ÜÈÛÉÛÛÇ ¾Ûæ¦øà  

   (b) ÈÛ¨ÛÈÛ¸ÛÁõÛýÛéÅÛ ¾ÛÛ¶ÛÈÛ …¶Ûé ïäõþùÁõ©Ûà ÍÛ×ÍÛÛµÛ¶ÛÛé 

   (c) ÈÛ¨ÛÈÛ¸ÛÁõÛýÛéÅÛ ¤éøî¶ÛàïõÅÛ ›Û¨ÛïõÛÁõà  

   (d) ¸ÛÛ×”Ûà ÈÛÍ©Ûà 

   An Underdeveloped Country Possesses. 

   (a) Vast Capital 

   (b) Unutilized human and natural resources  

   (c) Unutilized technical knowhow 

   (d) Thin population 

 (2) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶Ûä× ËÛéÌ¥ø Ü¶ÛþëùÉÛïõ ÉÛä× ÐüÛéýÛ ™öé ? 

   (a) ÈÛµÛ©Ûà ›÷©Ûà ¼Û˜Û©ÛÛé (b) ÈÛµÛ©ÛÛ ›÷©ÛÛ Ü¶ÛÈÛéÉÛÛé 

   (c) ÈÛµÛ©Ûä× ¾Ûæ¦øà Š©¸ÛÛþù¶Û •Ûä¨ÛÛé«ÛÁõ (d) ‹˜Ûä ›÷©Ûä× œ÷ÈÛ¶ÛµÛÛéÁõ¨Û 

   The best indicator of economic development is  

   (a) Rising savings (b) Rising investment 

   (c) Rising capital output ratio (d) Rising levels of living 

 (3) ¾ÛÛ¶ÛÈÛ ¾Ûæ¦øà ÍÛ›÷Ù¶Û¶Ûà ¾Ûä”ýÛ ÍÛ¾ÛÍýÛÛ…Ûé ïõˆ ™öé ? 

   (a) ÈÛÍ©Ûà ÜÈÛÍºõÛé¤ø (b) ¼ÛÛíéÜ±ùïõ µÛÛéÈÛÛ¨Û 

   (c) ¾ÛÛ¶ÛÈÛ ÉÛÜî©Û …ÛýÛÛé›÷¶Û¶ÛÛé …½ÛÛÈÛ (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 

   The major problems facing the human capital formation are  

   (a) Population explosion (b) Brain drain 

   (c) Lack of manpower planning (d) All of these 

 (4) ÉÛäÅ¤Õø¡ö ¸Ûó¾ÛÛ¨Ûé ¾ÛÛ¶ÛÈÛ ÍÛ×ÍÛÛµÛ¶Û ÜÈÛïõÛÍÛ¶ÛÛé ïõýÛÛé Š¸ÛÛýÛ ™öé ? 

   (a) …ÛÁõÛé•ýÛ¶Ûà ÍÛÈÛÅÛ©ÛÛé  

   (b) ÈýÛÈÛÍÛÛýÛ¶Ûà ÍÛÛ¬Ûé ©ÛÛÅÛà¾Û 

   (c) ÈýÛÈÛÍÛÛýÛ¶Ûà ¼ÛþùÅÛÛ©Ûà ©ÛïõÛé¶Ûà …¶ÛäÍÛÛÁõ ÈýÛÜî©Û•Û©Û …¶Ûé ¸ÛÛÜÁõÈÛÛÁõàïõ Í¬ÛÇÛ×©ÛÁõ  

   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 

   According to Schultz which are the ways of developing human resources ? 

   (a) Health facilities 

   (b) On-job training 

   (c) Migration of individuals and families to adjust changing jobs 

   (d) All the above 
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 (5) ÜÁõïõÛ¦øÛë¶Ûä× ¸ÛäÍ©Ûïõ “Principles on Political Economy & Taxation” îýÛÛÁé ¸ÛóïõÛÜÉÛ©Û ¬ÛýÛä× ?õ  
  (a) 1717 (b) 1917 
  (c) 1817 (d) 1921 
  Ricardo’s book on “Principles on Political Economy & Taxation” was first 

published in 
  (a) 1717 (b) 1917 
  (c) 1817 (d) 1921 

 (6) ÜÈÛïõÛÍÛ¾ÛÛ× ›÷é¶Ûé ¶ÛÈÛ¸ÛóÈÛ©ÛÙ¶ÛÛé …¶Ûé Ü¶ÛýÛÛé›÷ïõÛé ¸ÛÁõ ½ÛÛÁõ ¾ÛæîýÛÛé ™öé ©Ûé …¬ÛÙÉÛÛÍªÛà¶Ûä× ïõÛé¨Û ™öé ? 
  (a) ÐüÌÛÙ¾Ûé¶Û (b) ¶ÛïÙõÍÛ 
  (c) ÁõÛéÍÛé¶ÛÍ¤øà¶Û ÁõÛé¦øÛ¶Û (d) ÉÛä¾¸Ûà¤øÁõ 
  The economist who stressed the role of innovations and entrepreneurs in 

development is  
  (a) Hirchman (b) Nurkse 
  (c) Rosenstein Rodan (d) Schumpeter 
 (7) “¾ÛÛé¤øÛé µÛ‘õÛé” ÜÍÛ±ùÛ×©Û¶Ûä× ¾Ûä”ýÛ ©ÛïÙõ ïõýÛÛ ÜÈÛ˜ÛÛÁõ ¸ÛÁõ …ÛµÛÛÁõ ÁõÛ”Ûé ™öé ? 
  (a) …Û×©ÛÜÁõïõ ïõÁõïõÍÛÁõÛé (b) ¼ÛÛÔ ïõÁõïõÍÛÁõÛé 
  (c) ¼Û›ÛÁõ¶Ûä× ïõþù (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüá 
  The basic rationale of “Big Push” is based upon the idea of  
  (a) Internal economics (b) External economics 
  (c) Size of markets (d) None of the above 
 (8) ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û …µÛÙÜÈÛïõÛÍÛ ¾ÛÛ¤éø ›÷ÈÛÛ¼ÛþùÛÁõ ¾Ûä”ýÛ ïõÛÁõ¨Û ÉÛé¶Ûé ¾ÛÛ¶Ûé ™öé ? 
  (a) ¼Û›ÛÁõ¶Ûä× ¶ÛÛ¶Ûä× ïõþù (b) ¼Û˜Û©Û¶Ûà …™ö©Û 
  (c) ¤éøî¶ÛÛéÅÛÛéœ÷¶Ûä× ¶Ûà˜Ûä× Í©ÛÁõ (d) ÜÈÛþéùÉÛà ¸Ûó½Ûä©ÈÛ 
  The balanced growth theory sees the primary cause of underdevelopment as the 
  (a) Small size of the market (b) Lack of savings 
  (c) Low level of technology (d) Foreign domination 
 (9) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶Ûà ¸ÛóÜ’õýÛÛ¶Ûé ÍÛ¾Û›ÛÈÛÈÛÛ ÅÛéÈÛàÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û __________ ”Û×¦øàýÛ …¬ÛÙÈýÛÈÛÍ¬ÛÛ 

µýÛÛ¶Û¾ÛÛ× ÁõÛ”Ûé ™öé. 
  (a) …éïõ (b) Ü³ù 
  (c) ˜ÛÛÁõ (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüá 
  Lewis theory explains the process of economic development considering a 

_________ sector economy. 

  (a) one (b) two 

  (c) four (d) none of these 

 (10) ¾Ûæ¦øà ÁõÛéïõÛ¨Û¶Ûà ¾ÛÛ×•Û¶Ûà ¼ÛÛ›ä÷¶Ûä× ÜÈÛÌÛ˜Û’õ ©ÛÛé¦øÈÛÛ ¶ÛïÙõÍÛé ÉÛé¶Ûà ½ÛÅÛÛ¾Û¨Û ïõÁõà ™öé ? 
  (a) ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ (b) …ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ 
  (c) ”Ûé©ÛÜÈÛÌÛýÛïõ ÜÈÛïõÛÍÛ (d) …Ûíé²ÛéÜ•Ûïõ ÜÈÛïõÛÍÛ 
  To break the vicious circle of the demand side of capital, Nurkse has pleaded for 

  (a) Balanced growth  (b) Unbalanced growth 

  (c) Agricultural growth (d) Industrial growth 
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 (11) ÐüÌÛÙ¾Ûé¶Û¶ÛÛ ÜÈÛÊÅÛéÌÛ¨Û¾ÛÛ× ïõýÛÛ Š²Ûé•Û¾ÛÛ× ÍÛÛíé¬Ûà ÈÛµÛÛÁéõ ÍÛ×ÅÛ•¶Û …¶Ûä¼Û×µÛ¶ÛÛé ›ÛéÈÛÛ ¾ÛÆýÛÛ ™öé ? 
  (a) ÍÛà¾Ûê¤ø (b) ïõÛ¸Û¦ø Š²Ûé•Û 
  (c) ÅÛÛé”Û×¦ø …¶Ûé ¸ÛÛéÅÛÛþù (d) ”ÛÛ² Äõ¸ÛÛ×©ÛÁõ¨Û Š²Ûé•Û 
  In the analysis of Hirchman, the industry with highest combined linkages turned 

out to be   
  (a) Cement (b) Textiles 
  (c) Iron & Steel (d) Food processing 
 (12) ½ÛÛÁõ©ÛàýÛ …¬ÛÙÈýÛÈÛÍ¬ÛÛ¾ÛÛ× ”Ûé©Ûà“ÛéªÛ¶ÛÛé ºõÛÇÛé : 
   (a) ÈÛµÛà ÁõÔÛé ™öé. (b) –Û¤øà ÁõÔÛé ™öé. 
   (c) ÜÍ¬ÛÁõ ™öé. (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüá 
   The share of agriculture in Indian economy is  

   (a) Increasing (b) Falling 

   (c) Stationary (d) None of these 

 (13) ”Ûé©Ûà “ÛéªÛ ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ÉÛé¶ÛÛé •Û©ýÛÛ©¾Ûïõ ÍªÛÛé©Û ™öé ? 
   (a) ÈÛèÜ±ù (b) ÁõÛé›÷•ÛÛÁõà 
   (c) …ÛÈÛïõ¶Ûä× ÍÛÛÂ×ú ÜÈÛ©ÛÁõ¨Û (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
   Agriculture is a dynamic source of  

   (a) Growth 

   (b) Employment 

   (c) Better distribution of income 

   (d) All of these 

 (14) ÜÈÛïõÍÛà©Û þéùÉÛÛé¾ÛÛ× ïéõÈÛÛ Š²Ûé•ÛÛé¶ÛÛ ÜÈÛïõÛÍÛ¶Ûé ÍÛÈÛÛë˜˜Û …Ü•Ûó¾Û©ÛÛ …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
   (a) ¾ÛÛé¤øÛ ¸ÛÛýÛÛ¶ÛÛ Š²Ûé•ÛÛé (b) ¶ÛÛ¶ÛÛ ¸ÛÛýÛÛ¶ÛÛ Š²Ûé•ÛÛé 
   (c) ïäõ¤øàÁõ Š²Ûé•ÛÛé (d) ”Ûé©Û ÜÈÛÌÛýÛïõ Š²Ûé•ÛÛé 
   In developed countries top most priority is given to the development of  

   (a) Large scale industries (b) Small scale industries 

   (c) Cottage industries (d) Agriculture based industries 
 

____________ 
 


